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Multiplication 3= Table

‘Solv the calulaons o revel th hidden icture. Each answer has a spcial clour:

03,6 = back 9,12,15 - bue 18,21 < orange
24,275 30,33, 36 = white

303 | 3wa [ o3 [3x2 [ 1x3 | 203 | 305 [10x3 ] 3es
e e e T AR EEER R
se3 | aw3 [ 32 [3x0 | 2x3 | 0ws [ 3e1 [ 303 |53
3ws | 3w3 (1203 (330|302 | 3eas | su3 [ 30a 2003
ax3 | 3w | 300 (1203 | naws| 3wz [30n2 | 35 | 303
303 |13 003 [12e3 | 3e7 | 6ws | 7u3 [ 36 | 3ea
se3 |10w3 | 203 [30m1 | 20w3| 3w |13 | 303 | a3
ax3 |23 3012 [ 0x3 | 203 | 1203 1003 [ 35 [ 11e3
1003 [ 303 (1003 | 3ean | maws [ 123 [ 3ea | ax3 | 503
3ws | 1awa [3wm2 [aea 302 | s0wa | 123 [ 503 [ 33

Challenge: Which calulatons have an answer ending in 67
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Multiplication 4x Table

‘Solv the calulatons o revel th hidden icture. Each answer has a spcial clour:
0,6,8,12 < brown, 16 = green 20,26 = black
28-re 32,36, 40, 44 - bue 48 - white

e e P O A T R T e

10ca | sea | exa |axz| sua | ans [100a|axar| ane

went | sea | ave | ars | ene [1rea | axo | mea |aens

wer [1iea | 2ea | e | wno | 8ea [12ea | wnar| 0na

wro | wms [ we [ axo | 2ea | ans | wns [unto| sea

P e e P R R A T T

s0wa | 3ea | ax2 | one | ans [10nu funar| axs | ano

e |ann [10ea | 20a | x| ane | wns [ 1204|1000

wen [ 1ea | aea | ees | ame [anz [ 1ea | 2ea | ans
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Multiplication 8x Table
‘Solv the calulatons o revel the hidden picture. Each answer has a spcial clour:
0.8,16,26 - gren 32+ yellow 40,48 = red

56 = brown 64,72 = purple 80, 88,96 = blue

810 | 1008 |8e10 1108 | 8va 1108|1008 |8e10 | 108

suar| 1208 |8e12 | 800 | 248 | sxs |se10|8e1 | 1208

812 | 1008 |8e10 | 85 [ ovs [ se1 |se12|8en|8n10

tres [suar| w8 | meo | sue | 208 [ 8e2 |11es|8ent

1008 (810 | sxs | 8x3 | ons [ 6xe [ 8x3 |sxn2|mns

sx12| 8x9 | 0ns 38 [8x1 | 8x2 | 508 | 208 1048

tvs | 3e8 | ses | 208 | 0ns |83 [ 308 | 8es |110s

tres [gns2 11w | se7 | 708 807 (1008 |sen2|8ens

Challenge: Ave thefollowing caleulaions true or flse? Prove your answer
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